"'/6' Ve

1 @6

|3
I

BK-025
1400X900X2150mm



N AN -~ AN
x x X X
o— (¥ ?)
o = =
< < < <
s o e ® e [
-« CAOoE=_© ™
. e o o <
MWUO “ ® o~
(@)
® @ @ AA

2/6
.A%sagb

14pcs

Al2

A19

@

A23 A4
% %
M4x10 X32

(‘\3

N N 3
X = m%w X
 — © o
- ARSI
= JEY]E 2
X 3 %m 3
 — et ©
© ST x
M < < = W
N
x

\

\

A20

\

A3
-
A27

S

M

A1

Al

A6

A6

|

A27

3/6

\
Al4
\

\

J\J

A25

A25

L/L

4/6




Omnlpotent Spanner

=

Slotted head screw driver

:x.l’ s?iss:‘g‘,

i, ‘{x" 5

o)

Driller

A

Neutral silicagel gun
"y %

%

Gradientruler

&

Cross head screwdriver Tape measure
Al A2 A4 AS
—_— I | = -
X2 X1 X2 X1
A6 [, A7 Al0
X2 X2 X2 | X2
2 Al4
ﬁ X2 X1
Al7 Al9 A20
— (yk-
7 =
X1 ‘ X4 X1
A22 % A23% A24% A25 H
M4x12 X14 M4x10 X32| |M4xl6 X4 X2

A7 ii
M x2




1980
2130

150

700

900

200

2150 mm




OIN

A2

AS

— &

! Lock the nyt with spanner

\Mhe stand




Al A3

X2 X2
A2l A24
Max14 — yq M4 x 14 X4

Al3

X4

Al




\W

M4x12 X10

10pcs

N

~NU

A22

A25

A2



AT4

X1

o

A23%

M4x10 X32

Al4

1~A23

AT~
A231 ‘“




A8

©

14pcs

A22 Q@@ﬁ

M4x12 X14

A23%

M4x10 X32

A26

Qe ®

%%: A20

A2




1 Al2 AlS
w7
\_fa X2 X2 X2
7

N o[ ]
S
N 1 ->A 15
|
A12[ ] © >A16
«:QGS
== >A16




O

Hot water Control hand shower

Control top shower

Cold water
Switch

Control shoarp massager

Using instruction for shower room

1. open the switch,it can a djust the hot and cold water by turning into
right and left,it is fine when you feel the temperature is ok.

2. Turning the adjuster ,it can control water running from the hand
shower ,foot massager,sharp mass ager and top shower.

3. The hydraulic pressure is 0.4Mpa in every part.

4. Please turn off the power and switch of the shower room after you used
it.

5. Please swab the shower room with soft cloth,it will keep new.
The front and back of shower roo m are high - quality tampered
glass,please don't impactiit.

10



The small glass can be
installed in left and
right side.

IOI

The'small glass only 1pc.

The hot and cold water pipe and
connect parts should be bought
by client.

11



()

(9)
N | T
. Q |
Joyeadg Joyeadg

This Y-track packed in

the tray package.

| White wire

BUUSIUY

MOVI V0L ZHOG A0CC

12



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13

